C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Y (12/182+15)-(3/6Z+15) 1
2.
P (V-18)- (VB +2) ;
4.
Y (Vix-19)- (Vyex - 13) ;
6.
Y (VF 11+ (VF +9) .
8.
Y (VA-20)+ (YA + 15) o
10.
Y (e -1y (Vv +7)

D (ToN-8)- (TN - 12)

¥ (Zp+10)-(Yp-9)

% -(5/7K+1O)+(24728K+16)

10
) -( 10/20V +17) +(1/10V +12)
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ﬂh Rewriting Expressions

Name:. Answer Key

Rewrite each expression in itssimplest form.
1 12 3
) (/182 +15)-(7/gZ +15)

12 9
/16Z +15- /1gZ - 15

) (3/55'18)'(3/155+2)

9 3
/15B - 18- /15B - 2

3
) (¥x-19) - (Ve - 13)
12 4
/16X -19- /16X + 13
4
) -(5/10F+11)+(9/10F+9)
-5/10F-11+9/10F+9
5
) (YA -20)+ (A + 15)
VA +20+ 7 A + 15
6
D (e 1) - (Vv +7)
-15/25Y +7 - 20/25Y -7
,
D (VooN-8)- (TN - 12)
—8/20N+8—16/20N+12
8
) (Zp+10)-(¥D-9)
7.D-10- 7D +9
9
) -(5/7K+1O)+(24728K+16)
2K =10+ 70K + 16
10)

-( 10/20V + 17) + ( ]/10V + 12)

10 2
/N - 17 + VoV + 12

Answers
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